Problem 1:

2-18.
thickness of the beam.

C+3Ma=0;  By(15) — 20(6) —

B, = 48.0kN

+T X F, = 0; Ay + 480 — 20 — 20 -

A, = 160kN
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Problem 2:

2-21.  Determine the reactions at the supports A and B of
the compound beam. Assume there is a pin at C.

12
13(26) = 0

Determine the reactions on the beam. Neglect the

20(12) - 26(%)(15) -0
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Equations of Equilibrium: First consider the FBD of segment AC in Fig. a. N, and

c
about C and A respectively.

C+> Mc=0; 4(6)(3) — Na6) =0 N, = 12kN

C+3SMu =0, Cy6) —4(6)3) =0 C, = 12kN

Then,
LASE=0,0-¢,=0 ¢, =0

Using the FBD of segment CB, Fig. b,

L SF =0. 0+ B =0 B =0

+1 3Fy=0, B,—12-18=0 B, =30 kN

C+IMp=0; 12(4) +182) —Mp=0 Mp=84kN'm

4(6) K
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, can be determined directly by writing the moment equations of equilibrium
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